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Jeend theough the follo wing pussage nnd nnswer
(e questiony helow I ns dirvected ;
PASSAGF,

‘I'he environmental problems of developing
countries are not the side effects of excessive
(ndustrinlization but reflect the inadequacy of
development, The rich countries may look upon
development s the canse of environmental destruction,
but to us, it is one of the primary means of improving
the environment for living, or providing foods, water,
sunftation and shelter, of making the deserts preen and
the mountains habitable, The research and perseverance
of dedicated people have given us an insight which is
likgly to play an important part in the shaping of our
future plans, We see that however much man hankers
after matrinl goods, they can never given him full
stisfiction, Thus the higher standard of living must be
achieved without alienating people from their heritage
and without despoiling nature of its beauty, freshness
ind purity so essential to our lives,

The questions in 1, 2, 3, 4 helow have multiple
cholees provided against each. Pick out the choice
that answers the question most appropriately.

I, Howdothe rich countries view ‘development’ ?
A. Iteauses environmental destruction
. Itensures environmental protection
C. It forms the success story of'a nation
D. None of these
2. Inwhat way can ‘ingight’ helpus?

A, It con bring us economic freedom

Entrance Test for D.EL.Ed. Admission-2014-16

B. Itcan mak us culturally rich

C. Itcan help shape our future plans
D. None of these

The environmental problems of developing
countries reflect

A. Environmental pollution

B. Inadequacy of resource

C. Inadequacy of development

D. None of these

Craze for material goods can bring man
A. Maximum mental peace

B. Fullsatisfaction

C. Maximum welfare

D. Allofthese

The words given in the questions 5,6, 7 are
similar in meaning with certain words in the
passage. Choose the right word from the

choice for your answer against each
question : '

Separating _
A. Developing
C. Alienating
Robbing

A. Shaping

B. Improving
D. None of these

B. Dcspoiling
C. Providing D. None of these
Insufficiency

A. Inadequacy B. Primary

C. Perseverance ' D. None ofthes;.e
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Which of the following figures is the odd one oy 9

8. Theexpression “without alienating people from 13.
" 6g gea GenIRe FUEA 6aUT ARYAIRG0R

theirheritage” means __
“A. Estranging people from heritage gmel 7
B. Segregating people from heritage : :

C. Allowing peopletogo with heritage .
D. Noneofthese
9. ‘Inadequacy’ isused as ' "
A. Anadjective B. Anoun.
C. Anadverb  D. Allofthese
10.  Theadjective form of *satisfaction’ is
A. Satiety B. Satisfactory
C. Satisfactorily D. Allofthese : .
11.  Find the missing number in the following number <"
series. 8, 24,48, 2,120, 168 ,
A. 84 ' B. 68 | | ' ];'-L Which of the Venn diagrams best iﬁdicatesthe.
= D. 80 ; relationships among the three items : Literates,

Human beings, Teachers ?

06e QAN 68N 137158 GQ‘G‘HG‘@G‘ G‘Gﬂlg
G6RIT U@ f1ER 291 ANRG QG‘IERQ Q]ISG\ 9‘19

Q) TS Q@QIQ?J_G‘I TG 91@1@ @a :
8,24, 48,7, 120, 168

e e ads, deq 7.
® 72 - . (D)8 . |
12. - How many triangles are there in the following A. _

figure ? /
76 99a 5g6a 6a6eIF 89F 28 7’ .

C. @ |
A9 B. 11 | o nevinen
‘C. 13 D. 15 % " ) AO% Bt ;
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| 5; Which number would replace the question A. 4 B9

mark ? _ Cuil3 D. 7
6@dc q=e|t||§ 999100 O gRea o 7 17. ‘Mathematics’ is related to ‘Numbers’ the same

way as ‘History’ is related to ;
2 A. People B. Wars
25| 289 ) 4 C. Events D. Dates
i T e ‘Qdie’ 6aad el 9B ande, O« 6aPad
- ‘@feia’ Qiel afe ande 7
(A) 6RRAIER
36 :
(C) QAR
1 ? 4
(B) g«
9 (D) oide
18. If2=5,4=18,and 6 =39, then 12=7
16 ' ' ﬂ§2=5,4=18,%*’6=39,SG'€Q]2_=
81 ( 676 25 . A 140 N B. 164 .
i 7 S ¥
C. 150 D. 148
. 64 g
: 19.  Inarow, Prabiris 9th from the left and Sheela is
A 324 B. 169 .. ‘_ 141n l‘rom the n.g,ht. When they interchanged their
C. 196 D. 188 positions, Prabir became 17th from the left. How
- : 9
16. The numbers in different sections of the diagram Tlany Ae herChTibe 1%

indicate the number of persons. How many
employed people are trained but not married ?

caufen 3aq RIGER 24Q waqlq@é AR
e fagea 9o G‘G‘ﬂﬁ | 6966 Q4. G’E]_@gli}
NS g«asa@ ea QQIR6 qed 7 "

QIS UIFa gela QIel 9g ¢A gIRea 2F @
IRl QIRIE G 0 ¥E YIRER AT | 6I606QEQ
6AFIER PIFQ IR QLR FIER TRRER Q6R,
dQ1Q QI g € 94 =00 @Al | M6 6@60

@ 2ad ? : ,
A. 30 B. 31
Married - €3 . 2 2

. Trained Harish walked 14 kms towards South. He turned

b \QQBQI s v, 4 20.
PR i3 e leﬁ and walked 17 kms, then turned right and
s \LEmplefinent _ walked 10 kms and ﬁnally turned right and
/ﬁqég@ _ walked 27 kms. How far is he from the starting
S, point ?

jerey
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23,

c. 127
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204 @84 §aq ey &A CIRAl | 16Q QG Q&R
8 €9 GA Qi 6’6 @IPIEQ QAR G o

A QIR ¥ A 6q9a @IQ16g QFAI 8 99

@0 ofR 16a oA aGiee! FQ 6066 Q6Q
ag ?

A. 47kms B. 24 kms

C. 13v/2 kms - D. 26 kms

In which medium sound travels first ?

A, Air B. Steel

C. Vacuum D. Water

6RQ FRINEE FIQ 2RIQ 69E6a & asc}, P .
A. Qg B. @QI¢ '

C. 9o D. @@

Why does a running bicycle stop when you put
on the brakes ? -

A. Asrubber brakes have power to stop

B. Asmotion of the wheels slows down -

C. Dueto friction between rims and the brake

rubber

D. Due to decrease in energy of the rides
6aR 7IG6R AT ORI FIAARCER AR 90

coIQEAN 7
(A) 900 6910 ARG 99 FG 99 eraigl“

(B) ANEER SRR G a1 GE‘EQHG‘I\ GEJIQ

" (C) ANERR A B 68} A9Q FRIEA 16 ada

e |
(D) oI9ea a8 @Adel ead |-
How many districts of Odisha were covered under
the Phase 1 of Dlstrlct Prlmary Educatlon
Programme ?
A 08

i

BI6 .
D. 20

24.

25.

26.

WtsApp/Call- 8596976190

- oq geie 8 eidan (0.0.0.0)0 g8

adviaea 6R60If AR ANQ eaiceReR! 7
B. ¢9 g
C. ¢9 D. o

In which year the Right of Children to free and
compulsory Education bill was introduced in the

A. or

, Parliament ?
A. 2009 B. 2013
C. 2008 D. 2010

6R0 od dal 2AIA UG, IR ATREA QAP

celgml ?

A. §ooc‘ B. 90RM

C. 900l D, 90¢0

Which of the following organisation is incharge

of managing Primary Education in the State ?

A. Board of Secondary Education

B. Odisha RashtriyaMadyamik Siksha Mission

C. Odisha Primary Education Programme
Authority

D. Directorate of Primary Education

AoAge 609 gl QIRie glafie da1 atieleel

' QldQex 2ed ?

(A) aRFe sl 6ald 5

(B) 6F4I qude dai fas, |

(C) 6341 gI2fie a8l QIdign 21268

. (D) gefie dal fedaina

What was the primary objective of Operation
Black Board (OBB) scheme ?

A, To providé at least one Black Board

B. To prov:de at least 2 rooms and a lady
‘teacher
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27.

28..

(4) -a1gas

. Who is the Chairman of the Rajya Sabha ?
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T ——

..«Ci Toprovide free textbooks to students

D. To provide safe drinking water

Ba6adR, QIR 691 GAQ A AcREY @'4
gml ? ‘

(A) HUCRFER 641G QRIAGI CAININERE!

(B) 26@76@ 208 64411 69106 6 w6ea Jadg!
CRININERR &

(€) FIdaEa BIBRIRIT DI0Y98R CAINISRS!
(D) 'ﬁail{}d"ﬂ'lma@@"GEIIGII'G)GOG\I

The forth ﬁillar of Constitution s : '

~ B. Parliament

D. Judiciary

A. President
C. Press

qfiaife 902 99 62e@ :
®
(D) Sedale

qdea

(C) eaarIa

A. Speaker
B. Vice-President
C. Leaderofthe Opposition Party
D. President

QeI 218 @9 7
(A) Q1926

(B) a0qigad

-, (C) Q6N @RQ 670!

29.

-(D) QIgad gl g
" In which year Education was plaé’ed in the
_concurrentlist?. =~
i A 1950 - .B. 1976
b. 1995 D.- 2000

>

A.

. gad ndeca dalq 44 SINWIER uaa®
‘Faleql 7
(A) ecgo (B) 0 ¢99

(C) ecds (D) 9000

Who led the political movement known as

“Sampurna Kranti” in 1974 7

A. Atal Bihari Vajayee

B. . Jayaprakash Narayan

C. Morarjec Bhai Desai

D. Jagajivan Ram

ccoy adelca &9 “and 219”7
UCKINFR 67QF 6N ?

llalsy

(A) goe I2I01 Q@AY

(B) 9049I8 FIQIA8

(C) 6FIQIRGT QIR 6QHIR |

(D) Q62197 QA ' |

A child in elementary schools can easily :

A. take the perspectives of other children

B. relate her/his leaming'to real-life experiences

C. memorise the answers dictated to her/him

D. use her/his expcriendes to fongmulate

understanding of the world

gefie faueaa Jg 26 A0RER :

(A) 2pY ARIAIREA Qa6ql6l 6915\ =I5 Al

(B) ¢I'a daIq @IQ R19a ALYE Ale
. AHEe QAaIe

(C) 91g eQIaIAS! 2060Q6R Qg RIS

(D) 6I'Q AYREY ARIQ @R QLY RS TAAEH

Q6 608 FAAIES
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32, Inspite of your repeated explanations, a child -

Download Tech Of World App

fails to understand a topic. What would you
think ?
A. Child’s ability level is poor

B. Adequate TLMs were not made available
to you ; !

C. The topic was not explained at the level of
the child i} ’

D. Child’s home béickground lacks the
educational support

QA QAR QRIAQI A6] @sal dal Faadq
WA QT | Q601 @’@ aide 2

(A) daue ool fgeaa

(B) zieayaia 494 aaeqd Qg 64IgIR
QAR faa

(0) G0 daie gasa QeIa SAAR e

(D) dRia ge aGeRd6a 6380 aeaein AN
g

The primary reason for a teacher to fail to
complete the annual syllabus in time is that -

A. thesyllabusis too heavy

B. teacher’s time management'is not proper

C. the number of teaching days is not adequate
D. students’ progress at a slower rate

®6d d90 A1FQ ao¥enq OQ Adase AId
RAIGIR Y3l RIQE 6205 : -

(A) Qio¥RAS 2@ adaiga - .
(B) 980Ga ana adeieql O qed
(O) “8m Gogfen cenl'ases ged -

(D) eigRigiIRGa geda disl dil

e BT

34,

35,

A (), i), (), (), 0)

WtsApp/Call- 8596976190

Arrange the following teaching process in correct
order:

(i) Re-teaching

(ii) lesson plan :
(ﬁ]) formulating instructional objective
(iv) evaluation

(v) conducting group activities

feRAge 94 gaaq 0f |06a AR |

(i) gedQIRIe (i) QIO 6AIRR! (iil) SIT6Q QEQ49Y
QEIQd (iv) GBS (V) 9990 QIR AaIRq)

B. (i), (i), (iv), (v), (i)’
C. (i), (i), (), Gv), (i)

D. (i), (iii), (i), (v), (iv)
According to the RCFCE Act, which of the

following statements is not true ?

A. non-enrolled and dropout children should be
enrolled in age appropriate classes

B. Ifachild weak in studies, s(he) may be asked
to repeat a grade for one year

C. admission ¢an be giventoachild, evenifhe

has not got the transfer certificate from the
previous shcool ' i

I

Q. a child who is 16 years old ‘but has not

completed elementary education has the right
toreceive free elementary education

AT 6 SRISIRS Tl Qi 39 BRIa 2iac
(RCFCE Act) KN GRS cad add 0Q

fis [ lQ_GQ‘.: ?‘u Af oy

(A) 269 i epang KR 6 &g

Y

Iea adoye

adeQl daKieg 299-9ag9 6g4iea

K casiq aQIde
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37.
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(B) 2% 966 8al agiea Qe 28, 0Iq 661N
€g4NER 2@ @6d QBIAIRIER

(C) a1 aIsea 96 Saviean adeys gaeas
RS Al el'a aix 6QIIGq @quaea Qe
cadl ANAIGS

(D) €2 @8 01 6 Qlafie dal AFIg A Fa
@ed daIa AIGd glafie dal aeeaa
QIR G ‘ b

The most important quality of asuccessful teacher

is that s(he) : '

A. encourages in students a positive attitudé

towards learning ey

B. explains subject matters using TLMs

C. uses varieties of methods to help students
master all the textbook contents.

D. givesextracoaching to weaker students

264 AT SEAeq dQ0IQ 7MY Qé 62a8 6

64: ‘ ’

(A) SNIAIRGA §06Q IR ALad aAle 9@
AR 69198 98 K0

(B) 384 20904 S92IQ 08 S8a9F] QLIS

(C) QI0Y99aa ang Gaa 21an @ae Ale §6Q

080 .QeLIq @ daidig ARy @ed
(D) e Siaidie 2@ dI QIR ()

When would the textbooks be considered ldeal
for children ?

A. the contents remain same for all children in
the state.

B. the contents are different dependmg upon
regional context and needs

C. they are written insacha manner that a child
can remember.the contents easily

g3 they contain solutlons toall problems and

exercises

WtsApp/Call- 8596976190

MU 6REEERER I0ISRY aqcnﬁ'e 'aid zuedc\lsi‘

doR ateee 7
(A) QI‘&?‘%Q‘QQ% dais ag era G‘GD.G‘Q_ Qadiw
egem

(B) 2iEAe Af6ga G ARMNRSIQ AR @F
Cora 9909998e Sig UEQ 626

" (0) 8909998e deR6R FERAERI AERENER

" 38,

39,

GRIQ AIRIgy K89 Al6 6AL AIRYER
(D) @aiQyl @ aaﬂmméﬁaa QAARIF SRR
T3 )
The term * CWSN’ means :
A. Children With Specific Needs”
B. Child With Special Natiire -
C. Children With Special Needs
D. Children For Spec1a1 Necess:t:es
‘CWSN’ aad @ Qe ?
(A) ada Zeaeel Q1 aal
(B) goa 96 ada dal ‘
(C) goa ?Ji@ﬂq@é’l 2l dal
(D) qoa Aleaiael aid dql

On eniering the classroom, the teacher finds his/
her cartoon drawn on the blackboard. What
should the teacher do. ?

A. Warn the students not to repeat the behaviour
g i

B. Findthe culpritand wamn him/her so that other
do not do the same in future, -

C. Bring the dlsrespectful behaviours of the
students to the attention of the head teacher.

D. Ask the studz_nts to also draw the canoon of
an eminent person.
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6861 GeQ G9! 960 360 COREA 6A QOIORKE 43, .GAINI0e Sea8Y @ 66T ?

SINQ QIFR 66 QAAINE | 6Q @'a /G &6 (A) A - “(B) a9l
68Q 7 , 3
| P (O (D) wge!
- ) y "Ql I ¢ = - |
(A) mzﬁ cﬁqg’m QRaIRR @ @Gl QIR dRIg 1. e 09l 266 GN | 6aHIEe 893 66 ag ,
QIgQ *06Q = s |
RS (A) Geaay (B) Q6aad
(B) cQiaIg 5g¢ @8 61Q OIGQ @AEe aRITRER -
(€) ]9 (D) g

a0y GaiFlce QOSIeER 9ad AA6e IR

(©) Gaieea ZaRIReRe Gieeia guip 45, 298 898 QIF zael @9 |

dges Aeaq 21969 ) @eed  (B) &Y
(D) 69143 e §d8 MITA QIR Fe G ©) @@ (D) 9% .
aist o QARG @86Q ., - D -
46. 6ad 006 8 A2 GRG 6aIE 62108 ?

40. How should a student be evaluated ? - 3 i
' e B) @@
_A. continuously in and out of classrooms N ; a3 (B) ‘
B. atthe end of completing a lession (C) QQI@, (D) 2o .

C. inclassrooms only 47. ‘gRidy’ aed §ad feq 62108 7

D. annually, half-yearly and monthly (A) ge + 2idy - (B) geq+ 4
caicq dsidia 80 Riae QI a8 ? © g+adi (D) gl +dy
(A) Re9q 6L 6g41ge fieca 6.-QIIER 43. ‘Qols’ s Ga@ 606 62108 ?
(B) 6€IS~ GI0 9GQI A6Q " . (A) @ol+2za  (B) 80+
(C) 6eee 6gangeea _ (C) a0, + a8 (D) @Ol + ad
D) <ife, aigde 6 A3 686 49. 696 U96a OQ geYa 6QIS 6RIR Soia 4 |
Section II (A) geeda ~ (B) 9§l

41. @ 6?6 geIR Qa7 Y ) aeeqrl (D) QIR
(A) e ed  (B) 29 qeed 50.  ‘a§’q e §e8 @'a ?
(C) ad od (D) @99 qaed | (A) Qe (B)- AR

42. ‘@er ¢ad 6g61a 9@ ? RO diee . (D) eqlee
(a) oaa ' (B) sed@ | 51, fee _qqé@éﬁ a6 62108 7
©) eee D 6_?_‘?‘6959 fA) F+e0 (B) @+00

©) Aa+ee (D)za+ee
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52.

53.

54.

35.

56.

"(©) 2qiegl

‘erd’q Saaeid sane g8 ogia @l | S7.
(A) Ged (B) zoqd
© 6ed (D) zied
bR aebq e ea |
(A) 96086 (B‘)t: QBREE
' (C) acafe (D) @se@e

‘200 A9Q’ QRS ad @'e 7
(A) wsmiaa_ -aQ

(B) 2RI QR 6sR

(C) 2QQIaa A2I0

(D) 2R6AIRR TG ’
‘Qt + 2egra Aa§qas é’a ?
(A) 09l (B) Qaeq

(D) c,ia\f@gp

Under which of the fdi]éwiné conditions, HCF.
of two numbers ‘p’ and ‘q” can be determined ?

A. If‘p’ and“q’ are any two natural numbers
B. If‘p’ and ‘q’ are any two integers ‘

C. If‘p’ and ‘q” are any two rational numbers

" D. If‘p’and ‘q’ are any two real numbers

701D 679 69060 AE & ‘p’ 6q’ @ 6:Ql:¢;

fda eaaIQaIge ? -

(A) Q@ ‘p’ 6 ‘q’ 626@6IA QAT QIRTS el
621N : g

(B) 2@ ‘p’ 6 ‘q’ 6a6@ad 2aF 9d e

coIRaI
(C) 9@ ‘p’ 6 ‘q’ 626@6d 20T afenn Teu
colpaN A

(D) 99 ‘p’.6 ‘q 606led QEF QIge T

cLInad

58.

59.

How many pairs of numbers, each greater t:::
50, are there which have 16 as H.C.F and
asL.CM? ;

A. One paironly

B. Two pairsonly

C. Three pairs only ‘

D. Infinitely many pairs

50 2camI apm..ease 6P TS AT AR
9:Q1:g: 16 6 Q.Ql1:q: 448 ?

. -(A) 6299 641G\ 6QIFI

(B) 609R Q@ 62IP!
(C) 6999 8@ caIgl

(D) 211 IR 6QAIP! |

 The ratio between two numbersis7: 11.If the |

L.C.M. of them is 385, what is their sum ?

A 76 B.80

C. 86 D..90 .5 ¢,

QR0 el AR AFWS 7:11. 64 THY QATR

- Qg 385 626M, Tl QAGQ ANF 6R6Q ?

'B. 80
‘DiOQ <l

A. 76
C. 86

If (l+3|/225) =i+p/ls,then.what is the
va}ucof‘p’?- ik e

A. 31
c 3

B. 5
i1

r

"

JU+31225) = 14p/15 626 ‘p’ @ i

660 ?
A 31 B. 5
e R L JUES o O
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60. By what digit should the star (*) in the number

61.

62.

(©) 5%

835*1 be replaced to make the number a perfect

square ?
A 8 B. 4
£ 2 Dl

eyl 835*1 66 21 Qla@l (*) 4IFER 6Q0 e
QaIeER, THIE 9@ g4 6 e see 7

“A. 8 B. 4

G2 'D.1

Acertain sum of money, invested at compound
interest, amounts of Rs.27,783 in 3 years and
Rs. 26,460 in 2 years. What is percent of
interest ?
A. 12%
C. 5%
A% 4@ RS QIR 9898 2ia quea 87 ed
6 9n ede age QM QaAFsH 27, 783 61 6
26,460 6F1 29 6069 90! Q 2R 6@6S ?

- B. 8%
D. Datainadequate

(A) 12% " (BY 8%

(D) 2 92N G621 Q6%

'3

If 33 -31—% of a number is greater than 12 —;- % of

twice the number by 2, then what is 6%%' of

the number ?
A. 2/3 B, 3/4
C. 32 D. 4/3. .

a WA LB}

. 1 o :
666 g Qoliia 335% ae Q- LAY

: L |
12%% 26081 2 2@ 6267, 638 THHI 6%

e@ee ?

63.

64.

65.

66.'

‘A5

w23 - ® 3M

(©) 312 ) 43
Ifa shopkeeper sells ‘p’ number of articles at

- the cost price of *q” number of such articles, then

what will be his profit in percentage ? (given q>p)
A. (q-p)/qx100 '

B. ((q—p)/p)*100

C. ((p-9)/p)*100

D. ((p—q)/q)*100

P66 CQIQIRT ‘q° e 9gQ A0 QIN6a
aaeiea, ‘p’ ToIQ 698 gRIQ 99Q 690Q QIFEa
64 «6a (@@ 28 q>p) | INQ ACRF! 606
QR 629 ? _

(A) ((q-p)/q)*100

(B) ((q-p)/p)*100

(C) ((p-9)/p)*100

(D) ((p-q)/q)*100

Ifthe fourth proportional of x, 3 and 4 isequal to
the third proportional of 3 and 6, then what is

the value of X 7

x, 3 96" 4 ©gd aAIRAIS!, 3 9% 6 @ 9018
aeIgaIet a@ dFIR 626M, X @ FIF 6@6e 7
A1 gty 8

C.3 D..4

[f2x =3y, what is ((x + y)/(x 7 y)) equal to ?
2x = 3y 626m, (x + y)/(x—y) @ flIR 660 ? -
G2 D. 1

Whatis the ratio betweer the perimeters of the
squares inscribed in a circle and circumscribed

i about the same mrcle ?

\'le‘ Qe EI@GRGLG 9%199 @ 06}961_@ Qg oea
GQQWP]Q EIG‘GIO GG?GG! ?

A2, ~/_ B. J_ 2
Cx 3\/5 ¢ ;;' D_\/;.3
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I q--an-—-—

67 Then unit’s digit 6fa number is 3 more than the

69

ten’s digit of it. On reversing the order of the
digits, the numbers obtained is 2 more than the
double of the original nurnber. What is the sum
of the digits of the original number ?

Q0 U F98 6AIT TeNIa 1QQ ST Q40 AT
26081 3 W@ | THIQ S QAT YIF QIR
@69, QAR 6292 THIT P P R 96

U692 E’JEJ.G‘ @_‘d I e Q‘ﬁ‘llﬁl ?JG.‘ QG]G‘Q angd

6a6e ? |
A 4 B. 5
C. 6 5 o

With which of thé 3 measurements, given below,
taken as the lengths of the side$ of a triangle, the

-, triangle is possible to be constructed ? -

A. 6:1cm,8.2cm, 143 cm
B. 3.5c¢m,5.3cm,8.2¢cm .

€. 4.5 em, S:4'cm, 101 cm -
D. 53cm,11.8cm,6.2m -

R44 AIIAINS F12IQ 6RY F6RIF AlIa] 9 |

298 QMRS 6344 Q6T 6Ra GR AFS

.QQQI QIHG‘ G@Q s

(A) 6.1 6Q. 4., 8 2 sq ﬂ 14.3 6Q.41.
(B) 3.564.4,, 5.3 6Q.6\., 8.2 6Q.4.
(C) 4.569.8:, 5.462.46.,10.1 6Q.8:

(D) 5.3 2@, nsscm 626G1§1

In AABC,DandE are pomts on the 51des AB

~and BC respectively. ADi-.—'AC -and
3

CE =:BC. If the area of 'AABC is 24 cm?,
what is the area of ABDE ?

A. 12 cm? B. 18 cm?
C. 16cm? D. 20cm?

“fik

71,

72,

“A'ABC @ @4 AC 6 BC @a6a QaI@EA D GE

|
@Q aege | AD=|§AC 96 CE=ZBC |

A ABC @ 689a% 24 od 6a.§. 626@, A BDE

C Q6RRaR 66607 :

(A) 12edead.
(C) 18 @4l 6a.A.

(B) 16 9¢ 6.4,
(D)20 @4 64.4.
Which of the followmg is equal to (PUQ) if P

. and Q are non-empty sets ?:

P G Q 26gRY 6QC 626R, Qqq £R0 6Qed

(PUQ) Q¢ Qqie 7
A. PUQ' ‘B.gb'nQ'
C P'uQ 'D. PnQ"

During which of the followmg Age man
discovered agriculture ?

A. Old Stone Age
C. Middle Stone Age D. Noné of these

“B. INew Stone Age

FANe 60Q L6 AIee Qia aIfaa
QQem ?

(A) ge10R 92q g8

(B) 909990 Q8

(C) aug9age T
(D). 9IRS AQ 66T Q62 ..
What is the meaning of ‘Veda’ P

A. Knowledge B. Script.
€. Sword D. Book

‘ee@’a’mé‘ @'q ?

(A) g (B) éaeil”

©) @q )'dee

et s arnih
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74.

75,

76.

‘ C Akbar

Download Tech Of World App

Whlch of the Mughul rulcr Wwas imroduccd ‘Dm-
i-llahi’ as a new religious cult ?

A. Babar B. Jahangir

D. Aurangzeb
‘Ge-0-0qIer FIAG 1@ qoR ¥ 6ad 6AIGA
agie gesie afigsa 7 y

(A) QR (B) ®IRING

(C) zeea . (D) ZIQRA6R:

Who was the first President of the Indian
National Congress ?.

A. Allan Octavian Hume

B. S.N. Banarjee

C. W.C.Banarjee

D. Dadabhai Naroji

RRSIA FIGID FEGAR gem‘ émra@ @q eem 7

(A) QIR CRIGAIT e
(B) Q600918 QIRIFH.
(C) Q67899 QIR -

(D) QRIIa RlEqIP
Bengal was partitioned in which year ?

A. 1898 B. 1906

C. 1907 D. 1905
FTOT 606 AdIER TATE cRIReMI 1?
A. erer . B.RCod

C. €009 D. etog

Which of'the following is a basnc fréature of the
Indian Constitution ?

A. Fundamental Duties
B. Judicial Review

" C. Amendment Procedures

D. Fundamental Rights

77,

78.

WtsApp/Call- 8596976190

feqie Auq ceFPQ MSPIA AAMEA g
ede g Ko gea eaded 7

A 6fBe e

B. 3@ Qroesied
C. adeae gaa

D. sméa Z RN

Where does the proposal to create o abolish
the Legislative Council of State gets initiated ?

A. Lok Sabha

B. Rajya Sabha

C. Legislative Assembly of the concerned state
D. Union Cabinet :

QARYen FuIR 9daea 98 @ F6a1a Fnes
deIe gase 6e90I6a 2199 @qUad 7

A 6RIRCAE

B. Qu@yaq

C. P QIRYQ FUIRAS

D. 622 F6ere

Which of the following is a special power of the
Rajya Sabha ? ’

A. Creation of new All India Services
B. Approval of Ordinace:

C. Removal of the President
D. Creation of new State

F67I2 AUq 6246 QIRIAIR ¥Q 9o’ Sae!
aee ?

A. 999 A9 AIe019 6a9IQ 98
.. AUEQIR AREAIRR

B
C. QIga6e ofaia
D. 90% qeia 9§
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- -
79. Onwhat basis the number of representatives of
astate in the Lok Sabha is determined ?

. A. Size ofthe state
B. Populationofthe state . . .....

| ¥

0

C. Recommendation of the Election -

Commission
D Recommendat:on of'the Pres:dent

626 ARINER EAIRANIER GQI@‘Q QAR g@m
@il QU8 QaIaN ?

A QIRYQ ABER
B. QIQIQ Qe
C. Ao zieaes QaIda
D. Qigade qaieq

80. By whichamendments of the Consitution, local
self government got constltutlonal status ?
A. 24thand 25th Amendrnent
B. 42nd and 44th Amendment

C. 73rd and 74th amend_ment
" D. 85th and 86th Amendment

 AfAINA 6QQ EANUR G‘QGG\ CJ.IQ.Q g
Q‘IQQIQ_ Qllﬂc\JIG‘G‘ Al Fa ?

A. 9806 G 9800 TeaRIR
B. ¥900.6 ¥¥oq redie

C. 97076 9¥6A TEANR

—_—

D. rseqaa F.-DGﬂ redRle |

81.  Inwhichcontinent does the Troplc of Carplcorn

. passthrough ? ; -
A. Asia: i B Aﬁ1ca
C. ‘NorthAmencaD Europe
6R9 L1694 6o ﬂQQ@IB cal IE]IGIEIQ ?

A. &l B. IR

C. a8a 2696qI D. a@eqd

82.

83.

84,

85.

- ) 2= "_
-wmchoncismtamainmworﬁwﬁmﬂl

crust ?

A. Silicon B. Carbon

C. Allmm‘n.m D; Iron ;
6QE 9QaA fEM GaIRIR Q6% 7

A. déee B. 2&1Q

C. uQfAFaa D.6xl2

In which layer.of the atmosphere the weather
phenomena occurs ?

B. Thermosphere
D. Troposphere

A. Mesb’sphere
. ronOSphere

QAR 624 gasa Alfidie ACaI@MIAIR
a6ede 24 ? '

A. eqcQideie, B. 2661829
C. usaieqi@za  D. geaIdeuq
Which onte doés ot come under precipitation ?
A. Rain B. Dew
C. Hailstorie D. Snowfall
6966 g4 2ade Q6 7
A @8 B. e
C. QIaaa D."qsiqale
Which type of resc;ﬁrce-isaii'? |

" ““A. Renewable- B. Biotic
C. Non—renewable D, Exhausuble

QIE}_ 6RQ aeeq ane 7 -
A. 9@1@51541 8219y
6EQ

B &
C. eeead teaiay
i |

Coaifie 1 Vgt g
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87.

88.

Download Tech Of World App

Whlch one in a balunwd chemical equation ?
A. NaOH + H,80, - Na,SO, + H, 0|

B, 2NaOH + H,80, »Nu,S0, +H,0
C. 2NaOH + H,50, —Na 80, + 2H,0
D. NaOH +2H,80, < Na,80, + H,0
6RE® 9@ ANQR AFIRRE 7 ’
(A) NaOH+ H,80, »Na,80, + H,0 90.

'(B) 2NaOH + H,80,— Na,So, + !I 0]
©) "NnO[I + H,50, ->Na qO + 2H,0
(D) NaOH + 2H,SO, —Na,SO, + H,0,
The reaction given belowisa : |

Zn + CuS0O,—>2ZnSO, + Cu

A. Combination Reaction’

B. Doublgdccomp_psition reaction

C. Decomposition reaction

D. Displacement Reaction ‘

o6n FUAINLS AAUAFE 9ETAIT

(A) q"sf,l@a g8 o1 s i i 91.

(B) 65¢ dgiar goGal
(C) @ace goaal

(D) giae goaal
Which one is the correct order of increase in

denSIty" g j
' 92.

adigel QG’? 2qQdlea 608 QﬂG‘ 09 ?

89.

A. Smoke, Honey, Wate_r, Iron” _
B. Smoke, Water, Honey, Iron

C. Iron, 'Water, Honey, Smoke
D. Water, Smoke, Iron, Honey,

In which process the solute dissolved ina solvent

is separated ?

WtsApp/Call- 8596976190

B. Filtration
" D. Sedimentation

A. Evaporation
C. Sublimation

00 QUINEH LIS 6LINYY TUSY Cag

QAIGER gala, RAUAN 7

B. adged
D. 2iged

A. QEIRQR
C. a82199

Which of the following compound on heating

" directly changes to gaseous state ?

A. Calcuium Chloride

B. AmmoniumChloride

C. Sodium chloride

D. Potassium Chloride

FoRge edidenIea F2IQ caddq 9o Rea
Gaded quQie 29giQ adedie 297 ©

A mm@m 6QARG, ' |

B. 96154 6QIQAURQF,

C. 6Q59¢ 69N,

D. 6QIeId9 QUG

A vehicle gains velocity of 72 km/h within 5
minutes. What is its acceleration in m/s*?

6RlIE9 Gl!@ 5 (IQC 6 72km/h GQGG‘GI
ANGM, YLIG QR X6 ?

A. 120 m/s? _B. 1/15m/s?

C. 1/10m/s* D. 1/5m/s?

 Ofthe following four boxes under cotisideration

have similar shape & size but contains different
things, which of the fo]lpwing has maximum

inertia ? .
o A Wooden box full of cotton

B. Empty iron box

C. Wooden box full of books.

D. Iron box full of books
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 G0I6] FuRINERI GIEaIT Feqie QIga HIRIR

6 2QE AR @9 cageq 4Rl QY AIR Al
SIS G sQuda WQ”?';‘;,'EQ, P
A. @9 Qe atgd eoeg
B. €I Q2IRIq st
C. @2 Qe 96gd QIoQlq @
D. @f Qe adgd QeIeg
Relation between Joule and Ergis; . 9L
QR 6 26l FRIER AN 26T :

A. 1Joule=10%ergs

B. 1Joule=10%ergs

C. 1Joule=10"ergs

D. 1Joule=10%ergs

Whihc one is the causal organism of dengue'?

'A. Bacteria B. Virus

C. Protozoa D. Fungus

60HA QIR Q6 ? .' ‘

A. Q1RIg ! ge1g

C. adete D. @98 Y ‘o8,

The causal organism erust of wheat is
~ B.Penicillium
A29Q GRG GQIQG\- él&é c2ml |

A. Puccinia

C. Aspergillus
A. aqada B. 60@ dqaq
C. a1q 9efaq D. aiegae

What is th major cel]‘ wall component of Gram

positive becteria ?
A. Lipoprotein B. Lipopolysaccharide

e Peptidoglyéan D. ‘Gchopnl)tein

WtsApp/Call- 8596976190

If 0866 @191 6P Gidia 6RUT QU QTIRIR

268 ?
(A) mgéalagiéé\

B) ﬁlmeaiaﬁdmlamq
(C) 6QA9F6eRISUARISR,
(D) SUERIETL,

Which one does not possess aNucleus ?

“A.. Yeast

B. NerveCell

- C. Matured mamalin RBC

D. Amoeba

" gadidea 248 Qe 7 -

A Q8

B. 1 QIgeRId
C. ataq eqyai aiq @ 4
D. el

Whichoneis intemal_tmnspor_t systemofthe cell ?

oA .Chloroplast

B. Endoplasmicreticulum . -3
C. Golgibodies . s. -
D. Mitochondria

5RO 6RITQ 298AGReR TQl ?

LA 6RleQIge

B. 469IQ9fa 6a5gIne

C. onddea

D. qigesiagel
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~ G0I0Q FURINLR SR Feqie AIQE BIRIA

6 A]E AAIR AQ 6Qeca YR QY AIR ARSI,
EAANRE n?sl 6RUGA RQQ ATIRE ?

) { 1 ...“I"l. -:1;;. ‘i‘
A. Qﬁ\q’f,;:!g|!' aagd @oeg
B. ©IA QElRIg e
C. @f Qe adgd Qo |

D. @2 Qe 20gd QeI

Relation between Joule and Erg is o . 97.
QR 8 2l FUER AAR AT :

A. 1Joule=10%ergs

B. 1Joule=10%ergs

C. 1Joule=10"ergs

D. 1Joule=10%ergs

Whihc one is the causal organism of dengue?
'A. Bacteria B. Virus

C. Protozoa D. Fungus

coqq Qlae ceele 7 ©

A. QIRlq ' B.gen
C. udsie i D. @9@ _ 08,
The causal organism qfrust of wheat is | |
A. Puccinia ~ B.Penicillium

C. Aspetgillus " “D.Pythium

J2016 KRG 6RITR FI0R 62l |

A. aeafa B. 60& dRaa

C. a1q 99699 D. al?.;}elaq'

What is th major cell wall component of Gram'

positive becteria ?
A. Lipoprotein B. Lipopolysaccharide

C. Peptidoglyéan D. AGchopr(‘)tein

A

WtsApp/Call- 8596976190

gif| 0686, @IRIg eI Sidia Qi Qe ATV

26e ?
(A) QIRETITITR,

(B) ﬁilaemaﬁqmmmq
(C) 609F6RILARAR -
D) UNGRISYITE,

Which one does not possess aNucleus ?

A. Yeast

B. NerveCell

- C. Matured rmamalin RBC

D. Amoeba

capicen GU8 QAN ? -

A Q8

B. 1 QIg6Id
C. abaq gsvaaq &4
D. el

Whichoneis -intemalrt_ranspo:jt systemof the cell ?

. A. Chloroplast

B. Endoplasmic reticul_u_m_ T )
_C. Golgibodies = :. -

D. Mitochondria

6RU6 6RIOQ 28safees gl ?
6Q6QI S |
ﬂsélqgeﬁq sa@sﬁﬁiq

Qmﬁﬁ@

o a w

qieecIedell
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!

99.. Whichiis not an adaptation of xerophyte ? SO e am-

A. Leaves modified into spines _ (D) &g g Yy

B. Transpiration regulated 2 ‘¢ B
' e 100. Which one is a free floating hy_drophytc T

A. Nilumbium B. Nyniphaea
C. Marsilea D. Pisia

C. Stems spongy

D. Sunkenstoma' A
6QES ARFINIA 9@ RACAINS Q68 .7 .

g 69QC F9 AIA FERIEQ ?
(A) @968 98 QaIede

L A 4@ B. @q
(B), 86900 300 e

C. gegfal “ ' D.ceieus

. [Answer =’
1:- @ 20 3@ 4-“(B) 530 6.8 7.4 s © 9.®., 10 B
@ 122 ©) 13.4) 14'®) 15 ®) 16. @) 17.(©) 18. (©) 19. (A) . 20. D)

2L.B) 22. (O 23.(A)" 24. (A) 25.(C) 26. B) 27. (C) 28
3L.O) 32 (). 33, (B),.34. (O 35 ® 36 (A) 37
.0 4«2 @ 4 (© 4. B) 45 (A) 46. (A) 47
Z: ((2 z EE)) 2 ) ,. 54.:“ (B)' 5. () 56. (A) 57. (A) s, D) 59. D) 60 ©)
71. (C) 72: A) 73. - 6: '(A) ° il s ) (B)
g e DRG0 % © 70 mow ® 0. ()

- (©) 783, D) 84, ®) ‘g5 A) 8. () 87. D) 83. B) 89, A4) 9. B)

91. 92. il o
(B). T RO 5w % 0 90w ® 9.0 100. O)

~(B) 29. (B) 30. (B)
- B) 38 (C) 39. D) 4o (A)
- ®) 8B 49 .© s @
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